Apartment in Hamrun



Hamrun, Central



€204,000

Total Rooms: 5

Bathrooms: 1

Floor Area (m²): **57**

Reference No: 240231042-350

P☐ Bedrooms: 1

Apartment - For Sale - Hamrun

HAMRUN- APARTMENT - A choice of second- or third-floor apartments, sold finished (excluding bathrooms and doors) and served with a lift. Each unit features a bright open-plan kitchen/living/dining area, a comfortable bedroom, a study that can double as a home office or guest room, and a main bathroom. Offering modern layouts and excellent convenience, these apartments are ideal for first-time buyers or investors looking for a centrally located, easy-to-finish property.

Features

Rooms

Living/Dining: 3.8 x 4.87 m (18.51 m2)

✓ Kitchen: 3.23 x 2.37 m (7.66 m2)

Double Bedroom : 4.55 x 2.86 m (13.01 m2)

Office / Study : 1.91 x 2.86 m (5.46 m2)

✓ Hallway: 1.18 x 8.38 m (9.89 m2)

✓ Bathroom : 2 x 1.5 m (3 m2)

Gallery











Claudio Caruana RE/MAX Centerparc - Qormi

M: 77016633

E: claudio@remax.com.mt

T: 27344344

RE/MAX Centerparc - Qormi

Centerparc Complex, FIrst Floor, Triq it-Tigrijiet, Qormi, Malta